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Runde 1

Block A

a) 12,3 Uberschlag: 48:4 =12

b) 3,6 Uberschlag: 4:1=4

c) 2,48 Uberschlag: 15:6 = 2,5
d) 842 Uberschlag: 120:15 =8
Block B

a) 134 Uberschlag: 78:6 =13

b) 4.2 Uberschlag: 52:13 = 4

c) 198 Uberschlag: 8:4=2

d) 754 Uberschlag: 200:25 =8

Runde 2

Block A

a) 5,06 Uberschlag: 15:3=5
b) 8,5 Uberschlag: 24:3=8
©) 20,6 Uberschlag: 120:6 = 20
d) 256 Uberschlag: 30:1=30
Block B

a) 708 Uberschlag: 56:8 =7
b) 74 Uberschlag: 28:4=7
¢) 19,5 Uberschlag: 120:6 = 20
d) 23,8 Uberschlag: 75:3 =25



